1. Which square is cut into 2 different shapes?
T (R WA LE T AR 53 g A AR T AR ?

(a) —=—11 gy e ()

- (D) —— ()

2. What is the smallest number of ladders the firefighter must use to reach the fire without jumping?
FEARBCEREITE LT . THPT i B 2 DR A RE KUY

(A) 4 (B) 5

3. The table consists of 28 white cells:
TERH 28 MEBITEA R

Ira paints 2 rows and 1 column. A row is from left to right. A column is from top to bottom.

How many cells will remain white?

NSO 2 470 1 ST RR . ATRMAERIA, IR BRI i EREERZ D1 E 07

(A) 8 (B) 10 (C) 12 (D) 14 (E) 17



4. Soccer players numbered 1 to 11 stand in a circle. Each player kicks 6

the ball to the third player on their left. Player 1 starts. This kicking

pattern continues until a player has the ball for the second time. What 4 8
is the number of the player who kicked the ball last?

G 1B 11 ISR SR, AR BA E e 9
FEAMEB =R . N 1 SERGUTIRBBK. XF BT 0 B S 3 9 0
BBk G BB W VIRE— SRR LSRR —

(A) 7 (B) 8 (C)9

(D) 10 (E) 11

5. Mohammad wrote 3 consecutive 4-digit numbers in a row. His sister erased some digits. What are
the missing digits (from left to right)?

(For example, 213, 214, 215 are 3 consecutive 3-digit numbers.)

INEAHG 3 MIELERY VIR AT, A A T R R BRI I PR
BT ONERIGHESD

(flfn, 213, 214, 215 /& 3 AL = (%)

7, 898, 48

(A) 389, 3, 99 (B) 489, 3, 96 (C) 489, 4, 98 (D) 489, 4, 99 (E) 488, 4, 99

6. Lizzy pays 7 dollars for 3 items. The cost of each item is different and is a whole number. How
much is the most expensive item?
INBAE T ERIUKT 3 M BRI AR (B BT IE N H R St AR 2 2 07
(A) 2 dollars 2 37T (B)3
(D) 5 dollars 5 7T (E)6

ollars 3 7T (C) 4 dollars 4 T
ollars 6 FEJL

o o
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